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QUESTION 1

Which three process automations can immediately send an email notification to the owner of an Opportunity when its
Amount is changed to be greater than $10,000? Choose 3 answers 

A. Workflow Rule 

B. Flow Builder 

C. Approval Process 

D. Escalation Rule 

E. Process Builder 

Correct Answer: ACE 

 

 

QUESTION 2

A developer wants to invoke on outbound message when a record meets a specific criteria. 

Which three features satisfy this use case?Choose 3 answer 

A. Approval Process has the capacity to check the record criteria and send an outbound message without Apex Code 

B. Process builder can be used to check the record criteria and send an outbound message with Apex Code. 

C. workflows can be used to check the record criteria and send an outbound message. 

D. Process builder can be used to check the record criteria and send an outbound messagewithout Apex Code. 

E. Visual Workflow can be used to check the record criteria and send an outbound message without Apex Code. 

Correct Answer: ABC 

 

QUESTION 3

Opportunity opp=[SELECT Id,StageName FROM Opportunity LIMIT 1]; Given the code above,how can a developer get
the label for the StageName field? 

A. Call Opportunity.StageName.Label 

B. Call Opportunity.StageName.getDescribe().getLabel() 

C. Call Opp.StageName.getDescri 

D. Call Opp.StageName.Label 

Correct Answer: B 



 

QUESTION 4

What should a developer working in a sandbox use to exercise a new test Class before the developer deploys that test
production?Choose 2 answers 

A. The REST API and ApexTestRun method 

B. The Apex Test Execution page in Salesforce Setup. 

C. The Test menu in the Developer Console. 

D. The Run Tests page in Salesforce Setup. 

Correct Answer: BC 

 

QUESTION 5

A team of developers is working on a source-driven project that allows them to work independently, with many different
org configurations. 

Which type of Salesforce orgs should they use for their development? 

A. Developer orgs 

B. Developer sandboxes 

C. Full Copy sandboxes 

D. Scratch orgs 

Correct Answer: D 

 

QUESTION 6

What si the debug output of the following apex code? Decimal thevalue; system.debug(thevalue); 

A. Undefined 

B. 0 

C. Null 

D. 0.0 

Correct Answer: C 

 

QUESTION 7

Universal Containers has a large number of custom applications that were built using a third-party JavaScript framework



and exposed using Visualforce pages. The company wants to update these applications to apply styling that resembles
the look and feel of Lightning Experience. 

What should the developer do to fulfill the business request in the quickest and most effective manner? 

A. Incorporate the Salesforce Lightning Design System CSS stylesheet into the JavaScript applications. 

B. Rewrite all Visualforce pages asLightning components. 

C. Set the attribute enableLightning to treu in the definition. 

D. Enable Available for Lightning Experience, Lightning Comminities, and the mobile app on Visualforce pages used by
the custom application. 

Correct Answer: A  

 

QUESTION 8

Which set of roll-up types are available when creating a roll-up summary field? 

A. COUNT, SUM, MIN, MAX 

B. AVERAGE, SUM, MIN, MAX 

C. SUM, MIN, MAX 

D. AVRAGE, COUNT, SUM, MIN, MAX 

Correct Answer: A 

 

QUESTION 9

A custom Visualforce controller calls the ApexPages.addMessage() method, but no messages are rendering on the
page. Which component should be added to the Visualforce page to display the message? 

A.  

B.  

C.  

D.  

Correct Answer: A 

 

 

QUESTION 10

Managed Packages can be created in which type of org? 



A. Developer Sandbox 

B. Unlimited Edition 

C. Developer Edition 

D. Partial Copy Sandbox 

Correct Answer: C 

 

QUESTION 11

Which three code lines are required to create a Lightning component on a Visualforce page? Choose 3 answers 

A. $Lightning.createComponent 

B.  

C. $Lightning.useComponent 

D. $Lightning.use 

E.  

Correct Answer: ADE 

 

 

QUESTION 12

Which aspect of Apex programming is limited due to multitenancy? 

A. The number of active Apex classes 

B. The number of methods in an Apex Class 

C. The number of records processed in a loop 

D. The number of records returned from database queries 

Correct Answer: D 
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